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REAL CH AM PS - $+3 Mohit.. 22 hours ago

Thank-you Sir for this Amazing and Magical Class Session of today.. g
And
My Answers for today’'s Homewaork are like-
1). Option 3-107.5°.
2). Option 4- 44%
Overall fail % = 34 + 42 -20 =56%.
Total pass students = 100% - 56% =44%.
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Thank-you So much, Sir ji.. () 4.
Show less
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Suresh Patro 2 hours ago
Q1 107.5

Q2 44
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InaAABC,Ilst e in-center. If £ BAC=35° then find £BIC="7
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In an examination, 34% of the students failed in mathematics and 42% failed in English. If 20% of the
students falled in both the subjects then find the percentage of students who passed in both the subjects?
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1)40%
2) 41%
3) 43%
4) 44%




Two trains of equal length are running on parallel lines in the same direction at 78 km/hr and 68
km/hr. The faster train passes the slower train in 72 seconds The length of each train is?
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A pen costs 600 Rs if whole payment is made in cash . If pen is bought at EMI then down payment come;at
Rs 200 and then 6 equal monthly investments for Rs 80. Find rate percentage
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A man rows to a place 48 km distance and come back in 14 hours. He finds that he can row 4 km with the
stream in the same time as 3 km against the stream. The rate of the stream is?
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1)1 km/hr

| 2)1.5 km/hr
3) 2 km/hr
4) 2.5 km/hr




There are 6 consecutive odd numbers in increasing order. The difference between the average of the squares

of the first four numbers and the last four numbers is 64. If the sum of the squares of the first and the last
number (| e odd numbers) is 178, then the averages of all the six pumbers is?
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A shopkeeper gets 10% profit but if he reduces its cost price by 27 and selling price by 27 rupees
then profit will be 15% Calculate co
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P and Q are two alloys of Aluminium and Zinc prepared by mixing the respective metals in the ratio of 5:3
and 5:11 respectively. If the alloys P and Q are mixed to form a third alloy R with an equal proportion of

Aluminium and Zinc, wh s the ratlo of aIons P a% él),)[m the new aIon R?
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Two trains starting at the same time from two stations 400 km apart and going in opposite direction cross
each other at a dlstance of 230 km from one of the stations. What is the ratio of their s

eeds?
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The average weight of 10 boys is increased by 1.5 kg when one of them whose weight is 16 kg is
replaced by a new boy. The weight of the new boy is ?
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A shopkeeper sold a book at Rs. 144 in such a way that his percentage profit is same as the cost price of the
book. If he sells it at twice the percentage profit of its previous percentage profit then new selling price will
be?
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onal bought a box of chocolates to distribute them on her birthday in school. The box weighed 600 graﬁs at
the time of purchase. She distributed 3/4 th of the chocolates and now, the weight of the box is 240 grams.

Find the weight of the empty box?

= Tpd ¥ 3U e R 38 gicd & AU gidde &1 U fSsr @iian| & g

JIRT BT duT-1 600 UTH UTI I 3/4 Aldhale dict AR 3 TG BT qol 240 ITH g | GIelt fosd
DT UR Td HIIU?

~111) 200 grams
| 2) 150 grams

3) 180 grams
4) 120 grams




A and B together can complete a piece of work in 20 days. B and C together can complete in 30 days. If A is

twice as oodaworkman sa%then in how many days will B alone can completethesam%work?
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